Scientist Engineer SC Structural

Two bars of different materials and same size are subjected to the
same tensile force. If the bars have unit elongation in the ratio of

3.4, then the ratio of modulus of elasticity of the two materials will
be

a) 4.3
b) 2:5
g) B2
d) 3:4
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a) 4:3
b) 2:5
c) 52
d) 34

At the point of contraflexure , here B.M is bending
moment

a) B.Mis minimum
b) B.M is maximum
c) B.M changes sign.
d)

None of these
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The buckling load of a given column depends upon
a) Area of cross-section of the column
Length and least radius of gyration of the column

b)
c) Modulus of elasticity for the material of the column
d) All of the above.
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The shear stress in the principal plane is

a)

b) Maximum
c) Minimum
d) Average
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According to Euler's column theory, the crippling load of a column is
given by P = m°El/CI2. In the equation, the value of C for a column
with both ends hinged, is
a) Ya
Ve

b)
c) 1
d) 2
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a) Y
b) Y2
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d) 2



The strain energy stored in a solid circular shaft subjected to torsion,

IS

- here T = shear stress at outer surface of shaft, C=

Modulus of rigidity of shaft material

a) — xVolume of shaft
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b) Z xVolume of shaft
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In the torsion equation %:%:Cﬂ/l, then term J/R is called

, here T = torque applied to shaft, J = Polar moment of
inertia, 1 = Max shear stress produced by shaft, R = radius of shaft,

C= Modulus of rigidity of material of shaft, 8 = Angle of twist and [ =
Length of shaft.

a) Shear Modulus
b) Section modulus
c) Polar modulus
d) None of these
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The magnitude of fixed end moment for a span if one of the support
sinks by & is
a) 3El&/L°

b) 2EI §/L2
c) El §/6L2
d) 6El 6/L2

UH YR & § TP NPps oF IR TS faxgia & fore RR BR 3meuf &1 ufemm
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a) 3El&/L2

b) 2EI&/L2

¢) El&/6L2

d) 6EI&/L2

A three hinged segmental arch ABC of span 50 m and rise 8 m
carries a concentrated load of 100KN at 15 m measured horizontally
from right support ‘B’. Calculate the vertical reaction and the
horizontal thrust respectively, at support ‘B’.

a) Ve =70 KN AND Hg = 93.75 KN

b) Ve =80 KN AND Hg = 95.75 KN

c) Vg =70 KN AND Hg = 80.75 KN

d) Ve =80 KN AND Hg = 95.75 KN



50 m Ta%afe 3R 8 m I aTell U ofF HevlaR WSYad 31TE ABC, G SR
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a) Vs =70 KN 3R Hg = 93.75 KN
b) Ve = 80 KN 3R Hg = 95.75 KN
) Vg =70 KN 3R HB = 80.75 KN
d) VB = 80 KN 3R Hg = 95.75 KN

In column analogy method, the area of an analogous column for a
fixed beam of span L and flexural rigidity El is taken as

a) L/3EI

b) L/GE]
c) L/EI
d) L/8El
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a) L/3El
b) L/6El
c) L/EI
d) L/8El

Which of the following theorem states that change in Slope between
two points A and B on the deflection diagram (elastic curve) of a

beam is equal to the area under the curvature diagram between
these two points?

a) Mohr's second theorem
b) Mohr's first theorem

c) Castigliano’'s theorem
d) Macaulay’s theorem
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If the plane truss has condition where m+r <2j, where j = no of joints,
m = number of members and r = unknown support reactions, it is
termed as:

a) Under rigid

b) Just rigid

c) Over rigid

d) None of above.

TS Feeel o T ST U & ST6l mo+r <2j, 81 | = Sigl &1 9%, m = Ga&]
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a) dH<e

b) HII<g

c) S{f%?cg"

d) Suded 7 q BIS e



Which of the following principle states that the influence line for any
force response function in a structure is given by the deflected
shape of the structure resulting from a unit displacement
corresponding to the force under consideration?

a) Von-Mises

b) Rankine

c) Muller-Breslau

d) None of these
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a) BH-TIEIS (von-Mises)
b) W(Rankine)
c) lj,ﬂﬁ—&l%ﬂld (Muller-Breslau)

d) Iuded H Y ol el




Which of the following is not a displacement method of structural
analysis ?

a) Method of consistent deformations

b) Kani’'s method

c) Slope deflection method

d) Moment distribution method

HRfRId T ¥ o SasiReHT o=yl &1 fawiTu- fafe 781 g7

a) T71d fa=gur fafer
b) I B Al

o) &ld fawu= faf
d) 3ol faa=ur fafd

Number of unknown internal forces in each member of a rigid jointed

plane frame is
a) 3

b) 4
B) 2
d) 6
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a) 3
b) 4
c) 2
d) 6

The carryover factor in a prismatic member whose far end is fixed is
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a) 0
b) 1/2
¢) 3/4
d) 1



In Moment distribution method, if the far end of the beam has a
hinged or roller support, then flexural stiffness is equal to

Where E= Modulus of elasticity, |= moment of inertia and L = length
of beam.

a) 2El/L

b) 3EI/L
c) EI/L
d) 4EI/L

3mef fya=ur faf & afe §iF & gR 31 R HeslaR 31¥al JaR JHU= are giar
€, dl 3FHA] gRdl & SRIER g1, SI81 E= USRIl U, |= JISaid
3ol quT L = 99 1 TS ¢

a) 2EI/L
b) 3EI/L
c) El/L
d) 4El/L



In moment distribution method, the sum of distribution factors of all
the members meeting at any joint is always

a) zero

b) greater than 1

c) less than 1

d) 1

3ol faerur fafy &, foselt oft Sie WR firem arer gt i & faavor ged &1
g ged __ giarg|

a) Y

b) 13T 3P
¢ 1d®H
d) 1

As per IS 456: 2000 (amendment 3), lapped splices in reinforcement
shall not be used for bars of size larger than

a) 20 mm diameter

b) 25 mm diameter

c) 28 mm diameter

d) 32 mm diameter



IS 456: 2000 (@RNYF 3) & AIIAR, [T:E¢ o0 H dts WaRdg &1 9
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a) 20 mm A
b) 25 mm dld
c) 28 mm A
d) 32 mm oA

As per |S 456:2000 (fourth revision), the effective width of the flange
of a L-beam which is not isolated, in no case greater than

a) Breadth of web+ half of sum of clear distances of adjacent
beams on either side.

b) One twelfth of distance between points of zero moments in
beam+ breadth of web+ 3 times of thickness of flange

c) One sixth of distance between points of zero moments in
beam+ breadth of web+ 6 times of thickness of flange

d) Least of a and b.
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The maximum shear stress in a rectangular beam is times
of average shear stress.

a) 1.15
b} 1.25
8] 1.50
d) 1.75

TS IAAGER S0 T ARedr U= ufded 3iad SUsuu ufdead &1
AT Il g |

gy 1.5
b) 1.25
c¢) 1.50
a4 1.75



As per IS 456:2000 (fourth revision), maximum area of tensile
reinforcement for beam shall not exceed where b = breadth
of beam and D is depth of beam.

a) 0.04 bD
b) 0.02 bD
¢) 0.03 bD
d) 0.4 bD

IS 456:2000 (@Y TRME) & AR AH & Y T T &1 SHiway &
_ Y 3% 8T 8N, 98l b = «1F &) digls ¥l D oiH &l TTERTS & |

a) 0.04bD
b) 0.02 bD
c) 0.03 bD
d) 04 bD



In limit state method, value of limiting moment of resistance factor (Qim)
for M20 grade of concrete (fe) and reinforcement having fy, as 500
N/mm? is

1 Srawy1 fafY 4, 9aa 9 (Qii) 1 H1H T8N, Tl HIhIE (fu) M20 US
8l 3R dgwiitie £, 500 N/mm? IS &l

a) 2.76

b) 2.66

) 2.86

d) 2.96

‘P’ is the pre-stressed force applied to tendon of a rectangular pre-
stressed beam whose area of cross section is ‘A’ and sectional
modulus is ‘Z'. The minimum stress 'f on the beam subjected to a
maximum bending moment ‘M’ is
a) f=(P/A) - (ZIM)
= (AIP) - (M/Z)
= (P/A) - (M/Z)
(P/A) - (M/62)

) f
c) f
) f



3R I & ‘A’ 3R JaREd HIYI 2’ aTell U ATIAIR gd-ufdad oty
& &S (tendon) TR TIEI 7191 Yd-Ufaad ‘P’ g | 917 IR feaH s Smeul
‘M’ T S O gAdH Ufded 'f_ gRil|

a) f=(P/A)-(Z/M)

b) f=(A/P)-(M/Z)

o f=(P/A)-(M/Z)

d) f=(P/A) - (M/6Z)

As per working stress method of IS 456:2000 ( fourth revision),
maximum tensile stress in N/mm? for M25 grade of concrete shall
not exceed

a) 2.0 N/mm?

b) 2.8 N/mm?

c) 3.2 N/mm?

d) 3.6 N/mm?




IS 456:2000 (AqY TRMeF) &1 BRIGR] Ulidad fAfdl & AR, Hidic & M25
U8 & 1w N/mm? ¥ Hfidhdn a-dd1 ufdad 9 3fftes 8l 811 =Iigu?

a) 2.0 N/mm?
b) 2.8 N/mm?
c) 3.2 N/mm?
d) 3.6 N/mm?

As per |S 456: 2000 (fourth revision), under transient wind load the
lateral sway at the top should not exceed , where H is the total
height of the building
a) H/350
b) H/250
c) H/500
d) H/600



IS 456:2000 (@Y TRNYH) & TR, &f0rF Ta- YR & 3faiid 2 or ursffa
Y (lateral sway) ¥ 3{{® Hgl 811 91y, 98! [9lcdT &1 $d SR H
gl

a) H/350
b) H/250
c) H/500
d) H/600

As per IS 800: 2007 (third revision), value of imperfection factor for
section in buckling class ‘a’ is
a) 0.34

b) 0.21
c) 0.49
d) 0.76

IS 800: 2007 (Jild TRIEH) & SR, 3o GUR (buckling class) ‘a’ H Ja=—
o equiger BIaM__ gdrgl

a) 0.34
b) 0.21
c) 049
d) 0.76



As per IS 800: 2007 (third revision), Maximum effective slenderness
ratio of a compression member resulting only from combinations
with wind or earthquake forces, is

a) 180

b) 250

c) 350

d) 400

IS 800: 2007 (aid HRNLA) & AR, Hdd Ya= Il YU &l & 4ol &
RO B dId JUie® HaR &1 3ifeiead WHId! H=Ial ofgurd
g

a) 180
b) 250
¢} 350
d) 400



As per |S 800: 2007 (third revision), the effective length of fillet weld
shall not be less than

a) eight times the size of weld

b) Four times the size of weld

c) Six times the size of weld

d) Size of Weld

IS 800: 2007 (Jaild TRMY) & UR, ftheic de8 & UG daly |
EREHEIEIRY

a) 98 & PR I 313 A
b) A8 & HHR Y IR A
) dee & DR I e THI
d) 98 & HTHR



As per IS 800:2007 (third revision), the distance between the
centres of any two adjacent fasteners shall not exceed
a) 16t or 200 mm whichever is less, where t is thickness of
thinner plate
b) 16 t or 200 mm whichever is less where t is thickness of
thicker plate
c) 32t or 300 mm whichever is less, where t is thickness of
thicker plate
d) 32t or 300 mm whichever is less, where t is thickness of
thinner plate

IS 800: 2007 (I H=MEH) & AR, fdb=g1 al Haread! (adjacent) BRERI &
daAdATBI I A 76l g A1y

a) 16t 3YAT 200 mm SN i & ), 98l t IR wie &t AT g
b) 16 t YT 200 mm S 1t &1 81, STl t e Wie & Hiers g
¢) 32t 31Ul 300 mm il 1t 1 8, 98l t e Wie ot 7IeTE g
d) 32t 3¥YaT 300 mm S 1 H B, 98l t ’R @Wie 3t O g




As per IS 800:2007 (third revision), all bolts used in frames
designed for earthquake loads shallbe

a) Black bolt

b) Ordinary unfinished bolt

c) Fully tensioned high strength friction grip bolt

d) None of above

IS 800: 2007 (T W) & IR, YU URI & o8 Teomg= farg 7Y Thi
TN fbu S a9y dlee g4 =ifgul

a) P dlee

b) HIYRUI HURSHd dlee

¢) quia: Wicalrd 3= &mdr g8l fig diee
d) Suged # ¥ D15 T |

As per IS 800: 2007 (third revision), under working stress method,
for a compression member, permissible compressive stress, fac =
X feq, where feq= design compressive stress.

a) 0.60

b) 0.55

c) 0.4

d) 0.75



IS 800: 2007 (TG TIMYF) & AIUR, FRGR] Uldad [ 7 qhig® TaR &
f_&lq: Wﬁmmmf&: = _Xfcd m%:ﬁfcdzmw
yfcad g |

a) 0.60
b) 0.55
c 04
d) 0.75

The ratio of shearing stress to shearing strain within elastic limit, is
kKnown as

a) Modulus of elasticity

b) Shear modulus of elasticity

c) Bulk modulus of elasticity

d) Tangent modulus of elasticity



YIATRYT THAT o 3fax U0l Uided &l Su=qui fddfdd equrd . &
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a) USRI T[Ulich

b) SUFYU TATR/CT T[0T
¢) T YA 0lich
d) ORI Y@l ol

As per IS 875:1987 (second revision), the live load for a non-
accessible sloping roof having slope of 15°, is to be taken as

a) 0.65 KN/m?

b) 0.75 kN/m?

c) 0.70 kKN/m?

d) 1.50 kN/m?

1S 875:1987 (fgcita T=em) & 3R, 15° BT aTell TR-JAY BTeid 8 & forg
Id 3aR _____ fermn s

a) 0.65 kN/m?
b) 0.75 kN/m?
c) 0.70 kN/m?
d) 1.50 kN/m?



As per IS 800:2007 (third revision), the minimum required strength for
each flange splice shall be times of fy Arwhere fy is yield stress of
steel member and As is area of flange.

a) 1.0
b) 1.25
g) 1.2
d) 1.5

IS 800:2007 (GdTT TRMeM) P ATER, TS Uiol Wy & Iy Haw
IS & f, Al __ T[T 81T, VI8l f, ¥Id HeR &1 WRIHd Ui 3R A

TS BT AT B

a) 1.0
b) 1.25
e 1.2
d) 1.5



If a plate has dimensions as x for length, y for width and z for thickness.
Then state of plane stress occurs when

a) The stress varies with thickness

b) The stress components i.e. Oz, Ty, Txz @re non- zero.
c) The state of stress is specified by oz only.

d) The stress does not vary with thickness

Us &I & AW H, x da1s & 1Y, y ST & forw 3R 2 Aiers & forg fear man
o gHdd Ufdad &I aRT &d gied gril?

a) Uldad Hiels & 91 dgdy U

b) UfASd U2 T 0, 742, Tz IR-X[H BIF TR

o) ufdad Bl AR Had o, gRI AREY B o1 W)
d) Ufded Hiers 3 a1y Tel geeldl

If the plain strain deformation is occurring parallel to the XY plane,
then which of the following is not correct?

a) €:=0

b) Ex= Ey=0

C) Tz=Tx=0

d) &= &,=0



gfe Xy IHdd & GHHIGR GHdd faafa faeuur 81 w1 &, of Rafeiead & 9 =
el TEl g

a) &:=0

b) Ex= €,=0
€) Tyz =Tz =0
d) &= §,=0

The radius of Mohr'’s circle is equal to?

ARG O DI Fedl_ H R B g
a) Oy
b) Tmax
C) oy
d) (ox+ oy)/2



The most common form to express the flow curve is: g = KE" here
o = stress, € = strain, n = strain hardening exponent, and K is
defined as stresswhen €= ___

a) 1

b) O
)075
d) 0.33

TATE 9% &1 U B BT g 30 FU o = KE"E, Wal o = Ufded, € =
fagfa, n = faafa FeRieu gdis 3R K oI [Jdfd & =0 & uflyiivg fear
Sdaigis gl e = BRI

a) 1

b) 0.5
¢) 0.75
d) 0.33



For determination of allowable stress in axial compression, Indian
Standard Institution has adopted?
a) Engesser Formula
) Euler's Formula
c) Rankine Formula
) Secant formula

efig dited ¥ ergad ufded &1 Ruig &3 & fou YR 9e d= = A
&I YR 2 |

a) @ﬂ?ﬁﬁﬂ
b) iR I I
o FAHI g
d)y i &1 g

Can tensor be expressed in terms of its rectangular cartesian
system if yes, then which order tensor?
a) yes, Second order tensor.
b) yes, third order tensor.
c)no
d) yes fourth order tensor.



H U P 5HF HUABRIY BT YUl & Hae T e a1 Sl qedi g2 afe
81, 1 o 9oft & ufewr & saad fosan simam?

a)ﬁ%?ﬂtravﬂmm
b) BT, et Soft &1 ufew
c) T8l

d) T, = 9okt w1 ufew

Depending on relationship between the degree of approximation r
used for coordinate transformation and degree of approximation s
used for interpolation, elements are classified as

Sub parametric elements, if
a)r<s

b) r
c)r>s
d) none of above.



frdeie wuiaeur & o wged dfdswed OEl ¢ 3R SfddRE & fau uged
e AEl s & i & JaY o YR U, 9dh| Bl IU-UEicld ged & ¥4
# eifepd fpar ST 8, afe Gl

a) r<s
b) r=s
c) r>s

d) Suded 7 A B eI

Exact solution of differential equation can be defined as

a) The solution of associated variational problem

b) The function that identically satisfies the differential equation and
specified boundary and/or initial conditions.

c) The solution that is not differentiable enough to satisfy the
differential equation but differentiable enough to satisfy a variational
equation equivalent to differential equation.

d) A differential equation having dependent variable and possibly its
derivatives are required to take on specified values of boundary.



JHaH JHIHI] & G THIYUH Bl & =0 H ufeyTied foodr s gesar
2l

a) Uag [AERU IHIT & JHIYH

b) I8 B Sl 3ded IHeur 3R FRuifa dar o/ urfires fRufea) & afts
&0 Iqy &l &

¢) 98 U S aed TG B P A R ety T8 § g
AH AT B0 & S06R & (AR THIH0 &1 Iy &3 a1 sfadwa-id g

d) U8 T f¥d =R el adba-ig e 8 3R JHaaar S9& Jfadbad
(derivatives) i1 & Fuig 7 urd 3= aaﬁm Hﬁf&lﬁ %

Which of the following is not a classical Variational method?
a) Ritz method

b) Galerkin method

¢) Hamilton method

d) The least square method



frafafad o 9 o1 e ferufoi®d foerur fafd =& &2

a) ﬁ?ﬁﬁﬁ[

o) Trafeh fafd
C) %ﬁﬁ?ﬁﬁl
d)y “gAaH ol fafd

Serependity elements are

) Rectangular elements with no interior nodes.
) Triangular elements with no interior nodes.

) Rectangular elements with interior nodes.

) Triangular elements with interior nodes.



a) SMUAIGR YT oD Bl HdND 1S el gid

[ ™ W

b) AYSIHR gcdh oo Big SHidRed e gl 8id

¢) SMUAIHR s e iaRe® ig 8id &
d) FIYSTHR gew e affale Fis 8ld §

The courant method which is one of the method of weighted
residuals is also termed as

a) The collocation method

b) The Galerkin method

c) Penatly method

d) The least-square method

IR ARy &A™l § ¥ Ues- S (courant) [afd &1 1t g1 St
gl

a) gy fafy
b) Trafe fafer
¢) UiHcel fafe
d) gad o fafd



If the thickness is very large as compare to plan dimensions, the
problem is considered as
a) Plane strain problem
b) Plane stress problem
c) Frame problem

d) None of above.

WM & T &1 ga- 1 Ife AlcTs 9gd Wl g, al ga e sy
gl AT

a) gHdd fadid gu=n
b) THTA Uided G
o) ThH Il

d) IUGed § A DI e




Which of the following is not a characteristics of Dynamic problem?
a) Time varying nature.

b) Loading and response vary with time

c) Complex and time consuming

d) Single solution

fafalRad © 3 o nfds a0 o1 d&vr 781 82

a) Y TdeRU Uepic

b) HRU 3R Ufafesar 90y & 91y [A=fia gid &
) Slicd Ud IHY 3¢ o= Il

d) Tohd JUIYH

If undamped natural frequency (w) is 4.48 rad/sec and mass is 870.9 x
10° kg and logarithmic decrement (8) is 0.223, the damping ratio will be

a) 5.55%
b) 3.55%
c) 2.87%
d) 4.57%



gfe sFaufed UdBfd SMRT (w) 4.48 rad/sec 3R UM 870.9 x 10° kg Tl
TATRYHRT 3Uerd (d) 0.223 8, @l Sf@HeT e urd g1l

a) 5.55%
b) 3.55%
c) 2.87%
d) 4.57%

In case of free vibration, if y1 & y2 are the values of the successive
positive peak amplitudes, then the logarithmic decrement is equal
to
a) yily2
b) In (y1/y2)
c) loge(y2/y1)
d) log(y4/y2)

Had U & AT H, fe STRR IR Y ST &1 HH v, a4y, €, af
AT 3gar & SRISR G|

a) yi/yz

b) In (y1/y2)

c) logely2/y1)
d) log(yi/y2)



At resonance, dynamic magnification factor is

a) Directly proportional to the damping ratio
b) Does not depend on damping ratio

c) Inversely proportional to the damping ratio
d) None of above.

3TE W T Sad+ vee gl g |

a) A 31UId I Hie) YHUMNdSH
b) HaEE U TR 1k 78 Hear g
¢) SaHGH U ¥ GehbH JHUTIH
d) SUYdd H Y D5 &l



The fundamental mode of vibration of a structure is the mode
having the natural frequency.

) Average
) Lowest
) Highest
)

a
b
C
d) None of above.

el G S dUT S EYd Al Uresfae gy areh [l i g

a) 3d
b) AdH
¢) 3=dH

d) I ¥ A DIg el

A harmonic motion has frequency of 16 cycle/sec. What will be
angular frequency?

a) 82.72 rad/sec

b) 85.56 rad/sec

c) 100.53 rad/sec

d) 90.54 rad/sec



Ue g T &1 HGRT 16 cycle/sec B | SHDI HIVIT g fare1
B

a) 82.72 rad/sec
b) 85.56 rad/sec
¢) 100.53 rad/sec
d) 90.54 rad/sec

The ratio between the amplitude of the force transmitted to the
foundation and the amplitude of the applied force is termed as

) Frequency ratio
) Damping ratio
) Transmissibility
d) Bandwidth

a
b
c
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a) gkt U

b) 3{aHe 3{JUld
¢) HeRurRiddr
d) Sseef

When the all four edges of rectangular plate are simply supported,

then which of the following method shall be used for analytical
solution?

a) Navier method
b) Ritz method

c) Levy method.
d) None of above

9 AR W $ IR BR YR ¥ I o g9 §, o fasvoneres awye & i
Fofafad ¥ 9 S19-3t [ 1 v far s

a) -faaR fafd

b) e fafd
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Which of the following theory, is an extension of Euler-Bernoulli
beam theory?

a) Hencky- Mindlin plate theory
b) Kirchhoff plate theory

c) Shear Deformation theory
d) Shell theorv
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Which of the following is not as per Kirchhoff hypothesis for the
displacement field of plates?

a) Straight lines normal to the middle plane before deformation
remains extensible

b) Straight lines normal to the middle plane before deformation
remains inextensible

c) Straight lines normal to the middle plane before deformation
remains straight

d) Straight lines normal to the middle plane before deformation
remains normal to the middle surface after deformation.

frafeRad T 9 o1 wiel & [dwiru— &7 & [ e ke & IR 8l
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The most significant difference between Classical Plate theory and

Shear Deformation Plate theory is

a) Inclusion of transverse shear deformation based on predicted
deflections.

b) Inclusion of transverse shear deformation based on predicted
frequencies.

c) Inclusion of transverse shear deformation based on predicted
buckling loads.

d) All of above.
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Bisection method is also called as

a) Binary chopping
b) Interval halving
c) Bolzano method
d) All of above

g HIS fafer &l i HgT 1 2 |
a) ﬁ&nzrrﬁw
b) WBT%"T(Interval halving)
¢) dieorl fdfe

d) IUYad gt

Which is the most efficient method amongst below mentioned
methods for determination of eigenvalue?

a) Jacobi's method

b) Given's method

¢) Householder's method

d) QR method of Francis
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As per IS 1893: 2016 (sixth revision), in which of the following
condition, effects due to vertical earthquake shall be considered »
a) Structure located in seismic zone |ll.

b) Structure is rested on hard soil.

c) Structure without vertical or plan irregularities

d) Structure is rested on soft soil.

IS 1893: 2016 (F3d W) & IR, FHfRId & ¥ forg i &, Seier
Yo & YT TR faaR farar simam?

a) A=A YU & 11 R 8
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As per IS 13920: 2016 (first revision), it is recommended to use
steel grade less than for designing of RCC buildings.
a) Fe 250

b) Fe 350

c) Fe 415

d) Fe 300

IS 13920; 2016 (UYH JRMYH) & IR, R fafcET 3 feoms=71 & fau
A HY IS Bt T &1 UGN B &I B & Wkl g |

a) Fe 250
b) Fe 350
¢) Fe 415
d) Fe 300



are the boundaries where new crust is generated as
the plates pull away from each other.

a) Divergent

b) Convergent

c) Transform

d) Oceanic continental

et v wiel & Ue-gR A R fu® oM 1R A8 guS! a9 St § |

a) 3UART
b) HIHIRI
) TR

d) FHE HETgIU™

Which of the following is not type of Body waves?

a) Compressional waves
b) Shear Waves

c) Rayleigh waves

d) SV-waves.
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What is effect of liquefaction of sand?

a) Loss of shear strength of sand due to ground oscillation
b) Decrease in volume of sand

c) Increase in pore pressure in sand

d) All of above
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As per IS 1893 (Part 1): 2016 (Sixth Revision), for structural analysis
of Reinforced concrete structures, moment of inertia shall be taken
as percentage of Moment of Inertia (Gross) of columns.

a) 35

)
c) 50
)

IS 1893 (UFT 1): 2016 (S&d IRMY) & IR, YEalhd Dicic ﬂed-ﬂ&ﬁ %
Wﬁ?@wﬁﬁu STS@d YU & BIaH & JTSdd YU (o
_ yid=d & =u o fern S|

a) 35
by 70
c) 50
d) 75



As per IS 1893 (Part 1). 2016 (Sixth Revision), for soil deposits
consisting of submerged loose sands and soils falling under
classification SP with corrected SPT values N less than _ for
seismic zone lll, IV and V, the shaking cause by earthquake ground
motion may cause liquefaction.

a) 10

)
c) 12
d)

IS 1893 (HTT 1): 2016 (B4 TRMNLT) B TUR, YUl &F 111, IV 3R Vv & ey
NG SPTHM N __ 4 &H HH o [e1U SP aiffepur § 31 arelt 09 gleit ¥l
R i) aral gt o (&l & forg, ydu & sl I fiy ¥ g1 arefl gaad 9
GdldhRUl Bl Jahdl g |

a) 10

b) 15

0 12

d) 20



As per IS 13920: 2016 (first revision), in an external joint, both the
top and bottom bars of the beam shall be provided with anchorage
length, beyond the inner face of the column, equal to the
development length of the bar in tension + times the bar
diameter minus the allowance for 90 degrees bend(s)

a) 8

b) 12

c) 10

d) 16

IS 13920: 2016 (UYH IR & TIR, T&I SIS H, TH & MY 3R YR TR
aHl H FRRRBRIA a8 UaH &l Slutl, STl shiciH & 3MidRe Hedh & [, d-1d
IR &l SaAUHe ddls B SRER + AT SR & A 8 ¥ 90 S gopral
& U 3fgHfd Y Hd gu et

a) 8
b) 12
c) 10
d) 16

Calculation of centre of mass and centre of stiffness are required to
find the effect of in building.

a) Shear

b) Bending

c) Torsion

d) None of above
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a) 3UFYUl
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As per 2" Amendment of IS 1893 Part 1: 2016, in a building with
floor slab having more than 50% percent of openings, floor
diaphragm shall be considered in plane for structural
analysis of buildings.

a) Semi-rigid

b) Flexible

c) Rigid

d) None of above.



1S 1893 YT 1: 2016 o T I WRIHH & TR, 50% I SHI&EH UFT arel TR
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AqAH _ HIHET S|

a) 3ef-gg
b)
c) €0

d) ST ¥ A B Tl

As per IS 2720: Part 7: 1980 (latest revision), what is the free drop
recommended for a 2.6 kg rammer used in the standard proctor
test?

a) 350 mm

b) 250 mm

c) 450 mm

d) 310 mm

IS 2720: YT 7: 1980 (3 TRNLA) b SHTHR, AHD Ui YRI&UT H W
U SIF aTdt 2.6 kg YR 3 forT Tegd 11 ST a1 &2

a) 350 mm
b) 250 mm
¢) 450 mm
d) 310 mm



Which one of the following is correct assumption of Rankine’s earth
pressure theory?

a) The soil mass is infinite.

b) The soil mass is non homogeneous

c) The soil mass is cohesive

d) The back of the retaining wall is smooth and vertical.
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The graphical method for computation of earth pressure based on
Coulomb’s theory is

a) Rebhann’s method

b) Taylor's method

c) Mohr's diagram method
d) None of above

FHeid o [RAgid & HTUR UR Y& o ard o HHH - g AhI fafd gl

a) &g o fafe
b) e &I [AfY
¢) TR I el fafdy

d) Iuded H I Big el

Which of the following is not one of the assumptions of Terzaghi's
bearing capacity theory of soils under strip footing:

a) The shear strength of soil above base of footing is considered.
b) The footing is laid at shallow depth.

c) The base of footing is rough.

d) The shear strength of the soil is governed by the Mohr-Coulomb
eauation.
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As per IS 9214. 1979 (Reaffirmed 2007), for lightly loaded
pavements, the loading system and bearing plate should be seated
by application of pressure MPa for 75 cm diameter plate.
a) 0.007 Mpa

b) 0.07Mpa

c) 0.014 Mpa

d) 0.008 Mpa



IS 9214: 1979 (2007 H YA:4PPhd) & AR, §oob HR alcil Yesl & fefg, 75 cm
M arelt We & g AfET yonell ofk 9ai we & MPa GTd ST
ST ST 9|

a) 0.007 Mpa
b) 0.07Mpa

c¢) 0.014 Mpa
d) 0.008 Mpa

The minimum allowable factor of safety against sliding in the case
of cantilever retaining wall is

delaiar Ufqenid <laR o e 7 g & arier 7 QRe &1 gHAdH SHd
Ueh__ EdIg|

a) 2
b) 1.5
ey 3
d) 25



As per |S 2911 (Part 1/Sec 1). 2010 (second revision), the
minimum factor of safety for ultimate load capacity of piles on

static formula shall be
a) 1.5

b) 2.5
c) 3.5
d) 4.0

IS 2911 (MFT 1/8RT 1); 2010 (gt I=MeH) & HIOR, RR T IR s &I
TRE YR &HdI o ot RE&M &1 YAdH uch g1 A1y |

a) 1.5
b) 2.5
¢l .35
d) 4.0



A occurs when the forces causing failure are greater than
the shearing resistance developed along a critical surface of failure

a) Base failure
b) Slope failure
c) Face failure
d) All of above

f[qwadl &1 Hilde Idg & Iy IR u=uu yfaRiy I [dwaar gfed &
aTd 9l & e BN UR 1 BIdT 87

a) YR [Awddl
b) FepTa fatreral
¢) Wwdd [dmdad]

d) Sudad i

The units of transmissibility coefficient are
a) cm/sec

b) cm?/sec

c) cm°/sec

d) None of above.
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a) cm/sec
b) cm?*/sec
c) cm?3/sec

d) JTYH H ¥ Pk el

The group efficiency of driven piles in sand at a close spacing may
be

a) Equal to 100%

b) Greater than 100%
c) Well below 100%
d) None of above.

e SfavTe W ¥d § ui=nferd Ue e ) Tg UMIaeTdhdl Bl gl gl
a) 100% o SRIER
b) 100% I 3AH
¢) 100% 4 dgd HH
d) Suded 7 & BIg Tl








